What Is Cold And Comes In Cans?

Find the surface area of each figure. Cross out the box containing each correct
answer. When you finish, write the letters from the remaining boxes in the

spaces at the bottom of the page.
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Why Did Humpty Dumpty Have a Great Fall?

Do each exercise and find your answer in the answer column. Write the letter of the
answer in each box containing the number of the exercise. Use 3.14 for .

Find the lateral area and the total surface area of each cylinder.
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Il. Find the total surface area of each cylinder.
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A can of tomato juice is a cytinderwitharadius of

7.5 cm and a height of 20 cm. What is the area of
the label around the can? \ ‘N?— _— I

A steel oil tank is a cylinder with & diameter of 12 ft
and a height of 18 ft. How many

uare feet of steel
were needed to make the tank? %“t- 39 Fe—
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